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Question Number : 1 Question Id : 6801915248 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
C. W. Mills coined the term

. Sociology

. Sociological Imagination
3. Social Structure

. Empathy
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Options :

68019120501. 1
68019120502. 2
68019120503. 3

68019120504. 4

Question Number : 1 Question Id : 6801915248 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019120501, 1
68019120502. 2
68019120503. 3

68019120504. 4

Question Number : 2 Question Id : 6801915249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Auguste Comte, the three stages of society's development are:

1. Slave society, Feudal society, Capitalism
2. Theological. Metaphysical. Positive

. Theological. Militant. Industrial

4. Capitalism. Socialism, Communism
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Options:

68019120505. 1
68019120506. 2
68019120507. 3

68019120508. 4

Question Number : 2 Question Id : 6801915249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120505. 1
68019120506. 2
68019120507. 3
68019120508. 4

Question Number : 3 Question Id : 6801915250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

G. H. Mead belonged to which school of thought?

1. Conflict Theory
2. Functionalism

3. Critical Theory

4. Symbolic Interactionism

Options :

68019120509. 1
68019120510. 2
68019120511. 3

68019120512. 4

Question Number : 3 Question Id : 6801915250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

680191205009. 1
68019120510. 2
68019120511. 3

68019120512. 4

Question Number : 4 Question Id : 6801915251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

World Cup Cricket matches are watched by millions of viewers across the world at
the same time. This 13 an example of:

1. Globalisation
2. Urbanisation
. Sanskritisation
4. Socialisation
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Options :

68019120513. 1
68019120514. 2
68019120515. 3
68019120516. 4

Question Number : 4 Question Id : 6801915251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120513. 1
68019120514. 2
68019120515. 3

68019120516. 4

Question Number : 5 Question Id : 6801915252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following developed the concept "Culture of Poverty" ?

. Emile Durkheim
Levi-Strauss

3. William Julius Wilson
4, Oscar Lewis
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Options:

68019120517. 1
68019120518. 2
68019120519. 3

68019120520. 4

Question Number : 5 Question Id : 6801915252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120517.1
68019120518. 2
68019120519. 3

68019120520. 4

Question Number : 6 Question Id : 6801915253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Social stratification based on ascription 1s

1. Meritocracy
2. Caste
3. Class
4. Status

Options:

68019120521. 1
68019120522. 2
68019120523.3

68019120524. 4

Question Number : 6 Question Id : 6801915253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019120521. 1
68019120522. 2
68019120523. 3

68019120524. 4

Question Number : 7 Question Id : 6801915254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which Indian sociologist coined the term "Sanskritisation"?

1. G. S. Ghurye

2. M. N. Srinivas
3. Andre Beteille
4. Yogendra Singh

Options :

68019120525. 1
68019120526. 2
68019120527. 3

68019120528. 4

Question Number : 7 Question Id : 6801915254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120525. 1
68019120526. 2
68019120527. 3

68019120528. 4

Question Number : 8 Question Id : 6801915255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who coined the terms "Little Tradition" and "Great Tradition"?

1. Herbert Spencer
2. Radcliffe-Brown
3. Malinowski

4. Robert Redfield

Options :

68019120529. 1
68019120530. 2
68019120531. 3

68019120532. 4

Question Number : 8 Question Id : 6801915255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120529. 1
68019120530. 2
68019120531. 3

68019120532. 4

Question Number : 9 Question Id : 6801915256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Worshiping of Goddess Laxmi during Diwali 1s a widespread practice in India.
This 18 an example of:

. Parochialisation
. Westernisation
3. Universalisation
4. Modernisation

|

Options :

68019120533. 1
68019120534. 2
68019120535. 3

68019120536. 4

Question Number : 9 Question Id : 6801915256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120533. 1
68019120534. 2
68019120535. 3
68019120536. 4

Question Number : 10 Question Id : 6801915257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In order to study the political attitude of Indian population, a researcher uses
sampling techniques. Which among these is not feasible in sampling?

1. Sampling must be representative

2. Study the responses from each and every individual of the population

3. Every individual of the population has same probability of being selected
4. Generalisation can be drawn based on small proportion of the population

Options :

68019120537. 1
68019120538. 2
68019120539. 3

68019120540. 4

Question Number : 10 Question Id : 6801915257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120537. 1
68019120538. 2
68019120539. 3
68019120540. 4

Question Number : 11 Question Id : 6801915258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Weightless economy is the one in which the products have their base in:
(A). Internet based services

(B). Agricultural products

(C). Computer softwares

(D). Media and entertainment

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
(A). (C) and (D) only
4. (C). (B) and (D) only.

Ia =
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Options :

68019120541. 1
68019120542. 2
68019120543. 3
68019120544. 4

Question Number : 11 Question Id : 6801915258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019120541. 1
68019120542. 2
68019120543. 3

68019120544. 4

Question Number : 12 Question Id : 6801915259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these 1s a disadvantage of survey method?

1. It can be quantified and analysed thereby giving statistical measure.
2. It 18 extensive and time consuming.

. Large number of respondents can be studied.

4. It 1s based on the model of scientific method.

L]

Options :

68019120545. 1
68019120546. 2
68019120547. 3

68019120548. 4

Question Number : 12 Question Id : 6801915259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Options:

68019120545. 1
68019120546. 2
68019120547. 3

68019120548. 4

Question Number : 13 Question Id : 6801915260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which method 1s an attempt to test a hypothesis under highly controlled conditions
established by the researcher?

. Experiment Method

. Survey Method

. Life Histories

. Ethnographic Method

R R

Options :

68019120549. 1
68019120550. 2
68019120551. 3

68019120552. 4

Question Number : 13 Question Id : 6801915260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019120549. 1
68019120550. 2
68019120551. 3
68019120552. 4

Question Number : 14 Question Id : 6801915261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these are features of a globalised economy?
(A). Global commodity chains

(B). Transnational capital

(C). Global financial markets

(D). Subsistence economy

Choose the correct answer from the options given below:

(D). (B) and (C) only
. (A). (B) and (C) only
. (A). (D) and (C) only.
4. (A). (B). and (D) only

Ia =
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Options :

68019120553. 1
68019120554. 2
68019120555. 3
68019120556. 4

Question Number : 14 Question Id : 6801915261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Options :

68019120553. 1
68019120554. 2
68019120555. 3

68019120556. 4

Question Number : 15 Question Id : 6801915262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the concepts associated with development of 'self as conceived by Mead:
(A). Preparatory stage

(B). Super-Ego

(C). Play stage

(D). Game stage

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (B). (C) and (D) only
4. (A). (C) and (D) only.

Options :

68019120557. 1
68019120558. 2
68019120559. 3
68019120560. 4



Question Number : 15 Question Id : 6801915262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019120557. 1
68019120558. 2
68019120559. 3
68019120560. 4

Question Number : 16 Question Id : 6801915263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these 1s NOT a characteristic of modernity?

1. Increasing role of science and technology
2. Bonded labour

. Urbanisation

4. Industrialisation

Taa

Options:

68019120561. 1
68019120562. 2
68019120563. 3
68019120564. 4



Question Number : 16 Question Id : 6801915263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120561. 1

68019120562. 2

68019120563. 3

68019120564. 4

Question Number : 17 Question Id : 6801915264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In statistical techniques is the figure that occurs most frequently i a
given set of data.

. Mean

. Median

. Mode

4. Standard deviation

e b2 —

Options :

68019120565. 1
68019120566. 2
68019120567. 3

68019120568. 4

Question Number : 17 Question Id : 6801915264 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120565. 1
68019120566. 2
68019120567. 3

68019120568. 4

Question Number : 18 Question Id : 6801915265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Durkheim which is the closest alternative to experimental method?

1. Comparative method
2. Historical method

. Verstehen

4. Case study method

L]

Options :

68019120569. 1
68019120570. 2
68019120571. 3
68019120572. 4

Question Number : 18 Question Id : 6801915265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Options :

68019120569. 1
68019120570. 2
68019120571. 3

68019120572. 4

Question Number : 19 Question Id : 6801915266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discipline concerned with the study of social aspect of ageing 1s:

1. Social Gerontology
2. Social Morphology

. Social Anthropology
4, Social Psychology

L]

Options :

68019120573. 1
68019120574. 2
68019120575. 3
68019120576. 4

Question Number : 19 Question Id : 6801915266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120573. 1
68019120574. 2
68019120575. 3

68019120576. 4

Question Number : 20 Question Id : 6801915267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these are formal agencies of socialisation?
(A). Family

(B). School

(C). State

(D). Prison

Choose the eorrecr answer trom the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
.(B). (C) and (D) only
4. (A). (C) and (D) only

a =
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Options :

68019120577. 1
68019120578. 2
68019120579. 3

68019120580. 4

Question Number : 20 Question Id : 6801915267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019120577. 1
68019120578. 2
68019120579. 3
68019120580. 4

Question Number : 21 Question Id : 6801915268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who coined the term "Generalized Other"?

1. Cooley
2. Goffiman
3. Mead

4. Blumer

Options :

68019120581. 1
68019120582. 2
68019120583. 3
68019120584. 4

Question Number : 21 Question Id : 6801915268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

AP " (SRS 3ER) eg fha- Ter

-8

3.4

4. SR
Options :
68019120581. 1
68019120582. 2
68019120583. 3

68019120584. 4

Question Number : 22 Question Id : 6801915269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tonnies's concept of Gemeinschaft i1s characterised by what kind of relationship?

. Impersonal
. Contractual
. Specialised
4, Personal

s 2 =

Options :

68019120585. 1
68019120586. 2
68019120587. 3

68019120588. 4

Question Number : 22 Question Id : 6801915269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019120585. 1
68019120586. 2
68019120587. 3

68019120588. 4

Question Number : 23 Question Id : 6801915270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a man marries more than one woman at the same time 1t 1s called:

. Polyandry
. Monogamy
3. Patriarchy
4. Polygyny

I =

Options :

68019120589. 1
68019120590. 2
68019120591. 3
68019120592. 4

Question Number : 23 Question Id : 6801915270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019120589. 1
68019120590. 2
68019120591. 3
68019120592. 4

Question Number : 24 Question Id : 6801915271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these is NOT a characteristic feature of scientific observation?

1. It 1= objective

2. Tt 18 gystematic

3. It 1s common sense knowledge
4. It 18 based on verifiable evidence

Options :

68019120593. 1
68019120594. 2
68019120595. 3

68019120596. 4

Question Number : 24 Question Id : 6801915271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120593. 1
68019120594. 2
68019120595. 3

68019120596. 4

Question Number : 25 Question Id : 6801915272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Cultural pattern which 1s widespread among society's population is called:

1. High culture

2. Popular culture
3. Subculture

4. Folk culture

Options :

68019120597. 1
68019120598. 2
68019120599. 3
68019120600. 4

Question Number : 25 Question Id : 6801915272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:
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68019120597. 1
68019120598. 2
68019120599. 3
68019120600. 4

Question Number : 26 Question Id : 6801915273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these 1s NOT a characteristic of secondary group?

1. Large in size or membership

2. Social contact are formal. segmental
3. Goal oriented

4. Relationship oriented

Options:

68019120601. 1
68019120602. 2
68019120603. 3

68019120604. 4

Question Number : 26 Question Id : 6801915273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019120601. 1
68019120602. 2
68019120603. 3

68019120604. 4

Question Number : 27 Question Id : 6801915274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these is NOT a function of schooling?

1. Socialisation

2. Social placement

3. Social integration

4. Perpetuating social hierarchy and inequality

Options :

68019120605. 1
68019120606. 2
68019120607. 3

68019120608. 4

Question Number : 27 Question Id : 6801915274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120605. 1
68019120606. 2
68019120607. 3
68019120608. 4

Question Number : 28 Question Id : 6801915275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Name the religion that believes that wind. mountains and oceans are spiritual
torces.

1. Animism
2. Buddhism

. Judaism

4. Christianity

L}

Options :

68019120609. 1
68019120610. 2
68019120611.3

68019120612. 4

Question Number : 28 Question Id : 6801915275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120609. 1
68019120610. 2
68019120611. 3
68019120612. 4

Question Number : 29 Question Id : 6801915276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these are characteristics of ethnographic methods of data collection?
(A). Participant observation

(B). Adapted to meet the requirements of researchers with various view points on
the nature of social reality

(C). Generates m-depth imnformations on the subjects under study

(D). Specific variables controlled by the researcher

Choose the correct answer from the options given below:

C) and (D) only.
B) and (C) only.
B) and (D) only.
C) and (D) only.

1. (A),
2. (A).
A),

e —

(

(
34
4. (B)
Options :
68019120613. 1
68019120614. 2
68019120615. 3

68019120616. 4

Question Number : 29 Question Id : 6801915276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (C) 3R (D)
2.%4ad (A). (B) 3R (C)
3.%ad (A). (B) 3R (D)
4. %4d (B). (C) 3R (D)

Options :

68019120613. 1
68019120614. 2
68019120615. 3

68019120616. 4

Question Number : 30 Question Id : 6801915277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who has written "The City"?

Daniel Bell
Pitrim Sorokin
Robert Park
4, Max Weber

Options :

e s

L]

68019120617. 1
68019120618. 2
68019120619. 3

68019120620. 4

Question Number : 30 Question Id : 6801915277 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019120617. 1
68019120618. 2
68019120619. 3

68019120620. 4

Question Number : 31 Question Id : 6801915278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A young woman. for assessing her salary uses her co-workers of about same age
and experience as point of comparison. This group is called

. In-group

. Out-group

3. Reference group
4. Social group

| R

Options:

68019120621. 1
68019120622. 2
68019120623. 3

68019120624. 4

Question Number : 31 Question Id : 6801915278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019120621. 1
68019120622. 2
68019120623. 3
68019120624. 4

Question Number : 32 Question Id : 6801915279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A small group of intimates which has strong mn-group sentiments and interests 1s
called

1. Clique

2. Out-group

3. Reference group
. Selt-Help group

EEN

Options :

68019120625. 1
68019120626. 2
68019120627. 3

68019120628. 4

Question Number : 32 Question Id : 6801915279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120625. 1
68019120626. 2
68019120627. 3

68019120628. 4

Question Number : 33 Question Id : 6801915280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these 1s NOT a characteristics of "civil religion'?

. It iz a body of religious beliefs which are widely held throughout the society

. These beliefs are largely upheld by mainstream religious organisations.

. Religious values are seen as sustaining the moral conduct required 1 a
democratic state

4. Practised among a minority population

| S

Laa

Options :

68019120629. 1
68019120630. 2
68019120631. 3

68019120632. 4

Question Number : 33 Question Id : 6801915280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120629. 1
68019120630. 2
68019120631. 3

68019120632. 4

Question Number : 34 Question Id : 6801915281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the stages of development of society as perceived by Karl Marx
(A). Feudalism

(B). Primitive Commune

(C). Slave Society

(D). Capitalism

Choose the correct answer from the options given below:

1. (A). (C). (B). (D).
2. (B). (C), (A), (D).
.(D). (A). (C). (B).
.(B). (D). (A). (C).

e g

Options :

68019120633. 1
68019120634. 2
68019120635. 3

68019120636. 4

Question Number : 34 Question Id : 6801915281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options:

68019120633. 1
68019120634. 2
68019120635. 3
68019120636. 4

Question Number : 35 Question Id : 6801915282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who viewed religion as the "Opiate of the People"?

1. Max Weber

2. Emile Durkheim
3. Malinowski

4. Karl Marx

Options :

68019120637. 1
68019120638. 2
68019120639. 3
68019120640. 4

Question Number : 35 Question Id : 6801915282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options:

68019120637. 1
68019120638. 2
68019120639. 3
68019120640. 4

Question Number : 36 Question Id : 6801915283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which theory views that deviance and conformity result not so much from what
people do as from how others respond to those actions?

1. Labeling theory
2. Functionalism

. Conflict Theory

4. Structural-Functionalism

L]

Options :

68019120641. 1
68019120642. 2
68019120643. 3

68019120644. 4

Question Number : 36 Question Id : 6801915283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120641. 1
68019120642. 2
68019120643. 3

68019120644. 4

Question Number : 37 Question Id : 6801915284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote 'Grundisse'?

. Karl Marx

. G. H. Mead

3. Emile Durkheim
4. August Comte

I =

Options :

68019120645. 1
68019120646. 2
68019120647. 3
68019120648. 4

Question Number : 37 Question Id : 6801915284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019120645. 1
68019120646. 2
68019120647. 3

68019120648. 4

Question Number : 38 Question Id : 6801915285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Strong 1deas of right and wrong which require certain actions and forbids others
18!

1. mores
2. folkways
3. culture
4. values

Options :

68019120649. 1
68019120650. 2
68019120651. 3
68019120652. 4

Question Number : 38 Question Id : 6801915285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019120649. 1
68019120650. 2

68019120651. 3
68019120652. 4

Question Number : 39 Question Id : 6801915286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Terms.) (Meaning)
A |Matnlineal I. |Descent traced through males
B. |Neolocal e Male head of the famuly holding power

over other family members

C. |Patrilineal [II. |Descent traced through females

Patterns of residence where married
D. |Patriarchy IV |couple reside in a dwelling away from
both their natal families

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I), (B) - (I11). (C) - (IT), (D) - (IV)
A(A)-(I). (B) - (IT). (C) - (IV). (D) - (I
(A) - (). (B) - (IV). (C) - (I). (D) - (II)

e s

Options :

68019120653. 1
68019120654. 2
68019120655. 3
68019120656. 4



Question Number : 39 Question Id : 6801915286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019120653. 1
68019120654. 2
68019120655. 3
68019120656. 4

Question Number : 40 Question Id : 6801915287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Integrating special students into overall educational program is called

1. Home schooling
2. Tracking

. Mamstreaming
4. Credentialism

L]

Options :



68019120657. 1
68019120658. 2
68019120659. 3

68019120660. 4

Question Number : 40 Question Id : 6801915287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[a=Iy ST &1 9Y Qe SrPH § Udbihd B DI ol ofdl ©

IR R 2141 31 (8TH T ie)
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Options :

68019120657. 1
68019120658. 2
68019120659. 3

68019120660. 4

Question Number : 41 Question Id : 6801915288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Theda Skocpol developed a theory on the origin and nature of revolution where
she studied three different revolutions under different historical contexts. Which
two research methods would be suitable for such research?

(A). Experiment Method

(B). Comparative Method

(C). Historical Analysis

(D). Ethnographic Method

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3. (A) and (C) only.
4. (B) and (D) only.

Options :

68019120661. 1
68019120662. 2
68019120663. 3

68019120664. 4

Question Number : 41 Question Id : 6801915288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) 9T fafe

(B) qeHIE fafd

(C) UfceTie fazgem

(D) oIy fafer

- fu e faed & 9§ el SR T -

1.%dd (A) 3R (D)
2. %ad (B) 3R (C)
3. %ad (A) AR (©)
4.%dd (B) 3R (D)

Options :
68019120661. 1

68019120662. 2



68019120663. 3

68019120664. 4

Question Number : 42 Question Id : 6801915289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these represents Ivan Illich's understanding of education and
schooling?

(A). He developed a functionalist and liberal view on education

(B). He wrote Deschooling Society

(C). He considered schools having "Hidden Curriculum”

(D). He saw schools as repressive institutions

Choose the correct answer from the options given below:

. (A). (B) and (C) only.
. (B). (C) and (D) only.
. (A). (C) and (D) only.
4. (A). (B). and (D) olny.

| B

Tad

Options :

68019120665. 1
68019120666. 2
68019120667. 3

68019120668. 4

Question Number : 42 Question Id : 6801915289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (C)
2.%dd (B). (C) 3R (D)
3.9dd (A). (C) 3R (D)
4. %ad (A). (B) 3R (D)

Options:

68019120665. 1
68019120666. 2
68019120667. 3
68019120668. 4

Question Number : 43 Question Id : 6801915290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Book) (Author/Thinker)
A |Pedagogy of the Oppressed [ |F. Oppenheimer
B. |The Elementary Forms of Religious Life| IT. |E. Westermarck
C. |The State II1. |Paulo Freire
D. |History of Human Marriage IV, |Emile Durkheim

Choose the correcr answer from the options given below:

L. (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
2. (A)-(III). (B)-(IV). (C)~(I). (D)-(II)
3. (A)-(IV). (B)-(II). (C)-(III). (D)~(I)
4. (A)=(IT). (B)=(III). (C)~(TV), (D)-(1).

Options :
68019120669. 1
68019120670. 2

68019120671. 3



68019120672. 4

Question Number : 43 Question Id : 6801915290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Al 11 ¥ e Sifeu
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C. [gxe 111 913l Ihil

D. |[B& 31 gor A IV. | Ui gEgH

Fafeiad [deedl & 3 9t 3u &1 99 S ;

L. (A)-(I). (B)-(II). (C)-(III). (D)-(IV)

- (A)-(II). (B)-(IV). (C)-(I). (D)-(1I)
- (A)-(IV). (B)~(I1). (C)-(III). (D)-(I)
4. (A)-(IT). (B)-(III). (C)-(IV). (D)~(I)

Taa

Options :

68019120669. 1
68019120670. 2
68019120671. 3

68019120672. 4

Question Number : 44 Question Id : 6801915291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Criminal act against a person or his‘her property by an offender motivated by
racial or other bias is called:

. Hate crime

. Corporate crime

. Orgamised crime

. White collar crime

b =

e g

Options :



68019120673. 1
68019120674. 2
68019120675. 3

68019120676. 4

Question Number : 44 Question Id : 6801915291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR A1 3 qaiag 9 URd SR1e gRI bt aafe a1 Sget Jui & Raare
MRS BT 1 gl el &

1. 9T 3ORTY
2. BIURE IRTY

3. gmidd T SIORTY
4. GBIl OTe

Options :

68019120673. 1
68019120674. 2
68019120675. 3

68019120676. 4

Question Number : 45 Question Id : 6801915292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A powerfully negative label that greatly changes a person's self concept and social
identity 1s called:

. Delinquent

. Stigma

. Social pressure
4. Deviant

2 =

faa

Options :
68019120677. 1

68019120678. 2



68019120679. 3
68019120680. 4

Question Number : 45 Question Id : 6801915292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U6 YfGaRNdl THRIAS dad ofl fod oafad &t T HTYRUT 3R THIfoS
UG @I §gd Sad odl 6. 34 Dol Sl 6:

1.&rc|_'ﬂ‘zﬂ

2. DD

3. JrTfoie garg
4. foge12ita

Options :

68019120677. 1

68019120678. 2

68019120679. 3

68019120680. 4

Question Number : 46 Question Id : 6801915293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

19th century philosophers who influenced the development of modern sociology:
(A). Hegel

(B). Marx

(C). Durkheim

(D). Samt Simon

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3.(C) and (D) only.
4. (A) and (C) only.

Options :

68019120681. 1



68019120682. 2
68019120683. 3

68019120684. 4

Question Number : 46 Question Id : 6801915293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

194 RrdTeq] & SR [orgl= D TR & [db™ &l FyIdd faarn:
(A) &

(B) AT

(C) 3EH

(D) Hd HIgHA

= fou e fasmedl o € ggl SR -

1. %ad (A) 3R (D)
2. $ad (B) 3R ()
3. %ad (C) 3R (D)
4.%ad (A) 3R (C)

Options :

68019120681. 1
68019120682. 2
68019120683. 3
68019120684. 4

Question Number : 47 Question Id : 6801915294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these is NOT a religious organisation?

1. Sect

2. Trade Union
3. Cult

4. Church

Options :



68019120685. 1
68019120686. 2
68019120687. 3

68019120688. 4

Question Number : 47 Question Id : 6801915294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
20 I DI U Uit Y13 el 82

1. gva™

2. T3 gHTA

3.9Y

4,99
Options:
68019120685. 1
68019120686. 2
68019120687. 3

68019120688. 4

Question Number : 48 Question Id : 6801915295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Method of understanding a culture by its own standards is called:

1. Cultural relativism
2. Xenocentrism
. Cultural integration
4. Ethnocentrism

L]

Options :
68019120689. 1
68019120690. 2

68019120691. 3



68019120692. 4

Question Number : 48 Question Id : 6801915295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep it Tl 1 3HP WU & UHS! §RI YU & fdb Uicha1 &l 9 0 F &1
YA ?

1. i fde Qriedmarg

3. GiEpideh THIBRI
4, TENSH

Options :

68019120689. 1
68019120690. 2
68019120691. 3

68019120692. 4

Question Number : 49 Question Id : 6801915296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Process by which 1n modern society religious 1deas and organisations tend to lose
influence when faced with science and other forms of modern knowledge is called:

1. Modernisation
2. Globalisation

3. Secularisation
4, Westernisation

Options:

68019120693. 1
68019120694. 2
68019120695. 3
68019120696. 4



Question Number : 49 Question Id : 6801915296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ag Ufshal ford & gRT 31y gurel ¥ erfiie f[gaR 3R 916, faiH 3R
YA T 5 37 FU1 DT FF S TR THIG Gl 4 § 2

YD iHRr

GEiG
YHAREEHO
4. Qi

Options :

fag 2 —

68019120693. 1
68019120694. 2
68019120695. 3
68019120696. 4

Question Number : 50 Question Id : 6801915297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Relative Normlessness" 1s associated with:

1. Altruistic suicide
2. Anomic suicide
. Fatalistic suicide
4. Egoistic suicide

L]

Options :

68019120697. 1
68019120698. 2
68019120699. 3

68019120700. 4

Question Number : 50 Question Id : 6801915297 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HI9E WiaHeHar afafed B3 P a9sie?

1. WUSR] rdedl

2. UfdHHeFdl Tdsdl
3. 91d@ Teedl

4. AEHRI ATHST

Options:

68019120697. 1
68019120698. 2
68019120699. 3

68019120700. 4

Question Number : 51 Question Id : 6801915298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these 1s NOT a cause of female infanticide in India:

. Poverty

. Dowry

3. Preference for male child

4. Increasing child labour in rural/urban areas

I =

Options :

68019120701. 1
68019120702. 2
68019120703. 3
68019120704. 4

Question Number : 51 Question Id : 6801915298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g8 9 D1 9 YRd H &1 YU 61 BT PRV AEI © 2
1. TR
2. 3R
3. 939 9= & foru adigar
4. gt RIERT &E W 9w F 9IS
Options :
68019120701. 1
68019120702. 2
68019120703. 3

68019120704. 4

Question Number : 52 Question Id : 6801915299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

American survey in 1953-54 showed that sociological researches took place in two
predominant areas:

(A). Urban and community studies

(B). Marriage and family

(C). Human mind

(D). Child development

Choose the eorrect answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3. (A) and (C) only.
4. (B) and (A) only.

Options :

68019120705. 1
68019120706. 2
68019120707. 3

68019120708. 4

Question Number : 52 Question Id : 6801915299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1953-54 T SONET Fd&fur J Ul =l o FHISIRATT Qe <l Y9 &1 § g
(A) TR SR TGRS 3

(B) YMI 3R 9RaR

(C)dF=a T4

(D) 9T Ty

- feu U faeedl & 9 W6l S| A -

1. %ad (A) 3R (D)
2. %9 (B) 3R (C)
3. @9 (A) 3R (C)
4. %ad (B) 3R (A)

Options :

68019120705. 1
68019120706. 2
68019120707. 3

68019120708. 4

Question Number : 53 Question Id : 6801915300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Self ' which 1s discovered through the reactions of others has been termed as
"Looking Glass Self". This term was developed by

1. Cooley
2. Mead

3. Gotfiman
4. Freud

Options :

68019120709. 1
68019120710. 2
68019120711.3
68019120712. 4

Question Number : 53 Question Id : 6801915300 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

W@ P o ool @1 wfafdared 3 Arers ¥ @ie ol 8, "SfaT T e
Hel odl ol 59 Ueg @1 g H I forun fowfad fasar w2

1. el

2. 1S

3. T

4. W0s
Options :

68019120709. 1
68019120710. 2
68019120711. 3

68019120712. 4

Question Number : 54 Question Id : 6801915301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A complete and detailed account of an event, situation or development 1s which
method of research?

1. Longitudinal study
2. Observational study
3. Experimental study
4. Case study

Options:

68019120713. 1
68019120714. 2
68019120715.3

68019120716. 4

Question Number : 54 Question Id : 6801915301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



@aﬂ.@ﬁmquﬁaﬁ?ﬁﬁﬁﬁﬂwa@mﬁaﬁq@ﬁ@

1. SFae] 3T
2. T&f0T 3{egH

3. WIS 30
4, FAAHTTA

Options :

68019120713. 1
68019120714. 2
68019120715. 3
68019120716. 4

Question Number : 55 Question Id : 6801915302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sigmund Freud divided the 'self mto three parts. Find the one which 18 NOT
Freud's classification.

1.1d
2. Game Stage
. Super ego
4. Ego

Taa

Options :

68019120717. 1
68019120718. 2
68019120719. 3

68019120720. 4

Question Number : 55 Question Id : 6801915302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RATHS W1as A g &l di- YT § fauTiord foaryn Fed 3 3d ¢e ol
HTIS PT T T8l § -

.9
. dd (7)) IR0
. URTSg]
4. 36
Options :

faa e —

68019120717.1
68019120718. 2
68019120719. 3

68019120720. 4

Question Number : 56 Question Id : 6801915303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Intangible world of ideas created by members of the society is called:

1. Material culture
2. Counter culture
3. Non-Material culture
4. Popular culture

Options :

68019120721. 1
68019120722. 2
68019120723.3

68019120724. 4

Question Number : 56 Question Id : 6801915303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT & Ga| gRIId [daRI 31 ofd gHa1 &1 9 H 3 1 Hel Sl g 2
1. Hifde Tpid
2. gid HEpid
3. TR-1ifde Twpld
4, AT &pid
Options :
68019120721. 1
68019120722. 2
68019120723. 3
68019120724, 4

Question Number : 57 Question Id : 6801915304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Unequal distribution of wealth. power and prestige among people at ditferent
stages of life course is called:

1. Gender stratification

2. Social stratification

3. Economic stratification
4. Age stratification

Options :

68019120725. 1
68019120726. 2
68019120727.3

68019120728. 4

Question Number : 57 Question Id : 6801915304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oita- & fafis =Rl § @l & &t" . 2fad 3R UfdnT & 9T f[davur &l
BT Il &

1. dffie TRiawo
2. YIS TRIH 0T
3. 3Tftfes TR
4. 31T TRIHRT

Options :

68019120725. 1
68019120726. 2
68019120727.3
68019120728. 4

Question Number : 58 Question Id : 6801915305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

That view of things in which one's own group is the center of everything and all
others are scaled and rated with reference to it is called:

1. Cultural relativism
2. Ethnocentrism

3. Cultural adjustments
4. Xenocentrism

Options :

68019120729. 1
68019120730. 2
68019120731.3
68019120732. 4

Question Number : 58 Question Id : 6801915305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



diofl & aR 1 39 e &, o ol o1 s e RAG S ds sia g
3R 3= 9t D1 59 Hay § U= JaieH a1 ol &, 9 3 9 J1 el
Al 2

1. ISP D g
2. Yoilid dhgalg
3. Gk ide O

o

4. fac¥l xare (TARTE)

o,

Options :

68019120729. 1
68019120730. 2
68019120731.3
68019120732. 4

Question Number : 59 Question Id : 6801915306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these islands was NOT part of Margaret Mead's study?

1. Arapesh

2. Mundugumor
3. Tchambuli

4. Trobriand

Options :

68019120733. 1
68019120734. 2
68019120735. 3

68019120736. 4

Question Number : 59 Question Id : 6801915306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S0 Y B 91 1Y 9FRe Hs & 30y ol e a1 U1

2. 43R
3. gt
4. TIigUs

Options :

68019120733. 1
68019120734. 2
68019120735. 3
68019120736. 4

Question Number : 60 Question Id : 6801915307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Sociologists/reformers) (Associated concepts/works)
A M. N. Srinivas I |Modemisation of Indian Tradition
B. |Andre Beteille I1. |Backward Class
C. | Yogendra Singh III. | Sanskritization
s Kk fon V. | Seipmni
Commission

Choose the correct answer from the options given below:

L.(A)-(I). (B) - (IV). (C) - (IIT). (D) - (II)
2. (A) - (D), (B) - (II1), (C) - (II), (D) - (IV)
A(A)-(I). (B) - (IT). (C) - (IV). (D) - (I
(A) - (). (B) - (IV). (C) - (I). (D) - (II)

e s

Options :

68019120737. 1
68019120738. 2
68019120739. 3
68019120740. 4



Question Number : 60 Question Id : 6801915307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9=l 11 9 e Sifor

Tl 1 T
(TSR JURS) (S YR /1)
- [T5. @ T I |HRdY U0 &1 ATYAhTH

Hig ad 1. [fOzsrar
il g 1L [SRepfaese
PIH] BT G| IV. [4TgTH

Fafeiad [deedl § U 9ol 3O &1 99 S ;

- (A)-(I). (B)-(IV). (C)~(I1I). (D)-(II)
- (A)-(I). (B)-(III). (C)-(ID). (D)-(IV)
. (A)-(I). (B)-(II). (C)-(IV). (D)~(II)
4. (A)-(III). (B)-(IV). (C)-(1). (D)-(II)

=

gl | =

a2 =

L]

Options :

68019120737. 1
68019120738. 2
68019120739. 3

68019120740. 4

Question Number : 61 Question Id : 6801915308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 18 NOT a part of Dravidian language?

1. Urdu

2. Malayalam
3. Kannada

4. Tamul

Options :
68019120741. 1

68019120742. 2



68019120743. 3

68019120744. 4

Question Number : 61 Question Id : 6801915308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g A 9 S I 419 Si3S 4T &7 e e 82
1.9

2. HefdielH
3. PAS

4. dffre
Options :
68019120741. 1
68019120742. 2
68019120743. 3

68019120744. 4

Question Number : 62 Question Id : 6801915309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII

{Contribution towards society ) (Personality)

A First headmistress for girls school in
" |Pune

I Savitri Bai Phule

B Coined the concept of dominant
" |caste

II. |Avvankali

C Engaged in upholding the nights of

 |the dalits in India M. |M.N.Snntvas

Coined the terms "One caste, One v Sri Naravana
religion, One God for all men” T | Gum

Choose the correcr answer from the options given below:

- (A) - (I1). (B) - (D). (C) - (TII). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

g b3 —

Options :

68019120745. 1
68019120746. 2
68019120747. 3

68019120748. 4

Question Number : 62 Question Id : 6801915309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



it 1 1 i 11 F e Dl

I I
A [t & aifeieT feeer & Ugeh HumIEATieDT L [gifeedt &g pol
B. [Ued S1fd & @R el 1. | 3Ehrell
C. |yra = el & ARl @ W e F T % 1L [oq. v fif3arg
D. | i 7l o 7T U oiifdl, U 4/H, U 4% Weal i G| IV, |4 TR0 T8
frafefad faedl § 9 981 9k &1 99 ST .

1. (A)-(ID). (B)-(I). (C)-(III). (D)-(IV)
2. (A)-(I). (B)-(II). (C)~(I). (D)-(IV)
3. (A)-(I). (B)-(II). (C)-(IV). (D)-(III)
4. (A)-(IIL). (B)-(IV). (C)-(I). (D)-(II)

Options :

68019120745. 1
68019120746. 2
68019120747.3
68019120748. 4

Question Number : 63 Question Id : 6801915310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTI1
(Concept) (Meaning)
n |nstsaa I scientific study of interaction within small

group

having both masculine and feminine

B. |Re-socialisation | IL. : ol
personality characteristics in same person

C Group 1 unlearning and relearning needed for a
" |dvnamics “|major role transition

unintended effect of a policy, program.

D. |Latent function IV | e
institution or association

Choose the correcr answer from the options given below:

- (A) - (D). (B) - (I1). (C) - (TII). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (I). (D) - (IV)
(A) - (V). (B) - (II). (C) - (I). (D) - (III)
4. (A) - (II1). (B) - (I). (C) - (I1). (D) - (IV)

g b3 —

Options :

68019120749. 1
68019120750. 2
68019120751. 3

68019120752. 4

Question Number : 63 Question Id : 6801915310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore
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(SAUTIOM) 3rh
- BIC THE & YR e o
A |Fyafer L \seife sremmm
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C. |[9Hg Magiaar | 1L |snawgd fRian ed gH1 9 g -fan
TG Al
o | HEd @de| .. ([ Aifq. s, g a1 §ed
BLEEE) |1 3rUfEa gy
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L. (A)-(I). (B)~(II). (C)-(III). (D)~(IV)
2. (A)-(II). (B)-(III). (C)-(I). (D)-(IV)
3. (A)-(IV). (B)-(II). (C)-(I). (D)-(III)
4. (A)-(IID). (B)-(I). (C)~(II). (D)-(IV)

Options :

68019120749. 1
68019120750. 2
68019120751.3

68019120752. 4

Question Number : 64 Question Id : 6801915311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT associated with the Jajmani system in India?

1. Functional interdependence between lower and higher castes

2. The term 'Tajmani' was coined by M. N. Srinivas

. Relations between castes entails ritual. economic and social aspects
4. Hereditary in nature

L]

Options :
68019120753. 1
68019120754. 2

68019120755. 3



68019120756. 4

Question Number : 64 Question Id : 6801915311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg T Y ST YRa & SorEr gormel 9 I6Y ol 62

1. 19 3R o= wnfadi & &9 srfas gwaR AR

2. SISHMD se TH. T, 4iiH9 gR1 el 71471 4T

3. SlIfcrdl & &g Sad| H SFFM. Midd 3R JHETie 9gq Qi o |
4. Upfd & dRITd

Options :

68019120753. 1
68019120754. 2
68019120755. 3

68019120756. 4

Question Number : 65 Question Id : 6801915312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these 1s NOT an outcome of modernisation?

1. Industrialisation

2. Urbanisation

3. Increasing caste rigidity

4. Breakdown of traditional structures and values

Options :

68019120757. 1
68019120758. 2
68019120759. 3

68019120760. 4

Question Number : 65 Question Id : 6801915312 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T W DI T AMYHIHR0T BT IRV T 82
1. SfTeIRfiaRuT
2. YERIDHRU]
3. TGl O el ST B Rl
4, URURS IRFA13] 3R Ged| Pl [aged
Options :
68019120757. 1
68019120758. 2
68019120759. 3

68019120760. 4

Question Number : 66 Question Id : 6801915313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Meaning of diversity is:

1. Collective difference

2. Uniformity among members of any group
. Dissimilarities among groups

4. Differences between two individuals

L]

Options:

68019120761. 1
68019120762. 2
68019120763. 3
68019120764. 4

Question Number : 66 Question Id : 6801915313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fafaerar &7 arel &

1. grfe® 3R
2. foodt ot g & Fe=l & &9 ThEadl
3. YHEI & 9T YA
4. 31 gyl & &I i’
Options :
68019120761. 1
68019120762. 2
68019120763. 3

68019120764. 4

Question Number : 67 Question Id : 6801915314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The interactionist theorists who said personality is shaped through social
interaction with others.

(A). Mead

(B). Freud

(C). Durkheim

(D). Cooley

Choose the correct answer from the options given below:

. (A) and (C) only.
. (A) and (D) only.
. (C) and (D) only

. (B) and (D) only.

|

e Taa

Options:

68019120765. 1
68019120766. 2
68019120767. 3
68019120768. 4

Question Number : 67 Question Id : 6801915314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

b arard! RgideR fS<i- ®el o gERl & 91y qmifse 31ihal &
10w J AfGad 31 PR Haars

(A)HTs

(B) WIS

(C) 34

(D) it
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1. %ad (A) 3R (C)
2. %4d (A) AR (D)
3. %ad (C) 3R (D)
4. %ad (B) 3R (D)

Options :

68019120765. 1
68019120766. 2
68019120767. 3
68019120768. 4

Question Number : 68 Question Id : 6801915315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Book) (Author)
A |Suicide I |G. H. Mead
B. |The Coming of Post-Industrial Society | II. |Karl Marx
C. |Mind, Self and Society ITI. |Emile Durlcheim
D. |German [deology IV. |Daniel Bell

Choose the correct answer from the options given below:

L. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
2.(A) - ({). (B) - (I). (C) - (IV). (D) - (II)
3.(A) - (IID). (B) - (AV). (C) - (I). (D) - (I)
4. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019120769. 1



68019120770. 2
68019120771. 3

68019120772. 4

Question Number : 68 Question Id : 6801915315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 g=l 1 8 i ifey

T I

(I¥TP) (?@Tm
A |gEEs L [oil g Hig
B. (g ST 3% URe SSiegd UrmEel| 11 [Hid ared
C. [aEE ¥ow U O] 11 |Uffel gedgH
D. (S smEfsararsi v. [SFaa s
fEfeIRad fddedl I el SR &l 90+ HIeld -

L. (A)-(D). (B)~(IIT). (C)-(II). (D)~(IV)
2. (A)-(I). (B)-(ID). (C)-(IV). (D)-(III)
3. (A)-(II). (B)-(IV). (C)~(IL). (D)-(I)
4. (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)

Options :

68019120769. 1
68019120770. 2
68019120771.3

68019120772. 4

Question Number : 69 Question Id : 6801915316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Concepts.) (Thinker)
Totemism I. |Durkheim

Reflexivity II. |Gouldner
Alienation ITI. | Weber

Werstehen IV, |Marx

ofa[w]»

Choose the correcr answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IV). (D) - (II)
2. (A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3. (A) - (). (B) - (IV). (C) - (Il1). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019120773. 1
68019120774. 2
68019120775. 3
68019120776. 4

Question Number : 69 Question Id : 6801915316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 11 ¥ e Sifeu
I = 11
(GURUME | EEIEED
A |erifiR L |gdsH
B. | ® (RNudf@dafadn| 1L [e=w
C. |3rema 108 GEE
D. [a%ed . [\
fFafefad [deeal & @ 98t Su &1 994 S ;

L. (A)-(I). (B)-(II). (C)-(IV). (D)-(III)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
3. (A)-(II). (B)-(IV). (C)-(III). (D)-(I)
4. (A)-(ITI). (B)-(IV). (C)-(1). (D)-(II)

Options:



68019120773. 1
68019120774. 2
68019120775. 3

68019120776. 4

Question Number : 70 Question Id : 6801915317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to M. N. Srinivas which among these 18 NOT influenced by
westernisation?

. Establishment of scientific technology
. Retards the process of sanskritisation

. Rise of nationalism

4. Lessening of caste rigidity

fag b2 —

Options :

68019120777. 1
68019120778. 2
68019120779. 3

68019120780. 4

Question Number : 70 Question Id : 6801915317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T, U, 4199 & S9R 398 9 17 uigie o § yuifad 9a1 82

1. A URIfS! &1 =T
2. I fiex01 1 uidha 1 a1fd Bl 8
3. g? q Pl 3ayd
4. ST Do Rl | DHl
Options :

68019120777. 1
68019120778. 2



68019120779. 3

68019120780. 4

Question Number : 71 Question Id : 6801915318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who wrote "Family, Kinship and Marriage in India"?

1. Urvashi Butalia
2. Barbara Miller
3. Veena Das

4. Patricia Ubero1
Options:
68019120781. 1
68019120782. 2
68019120783. 3

68019120784. 4

Question Number : 71 Question Id : 6801915318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- [

TfErelt, fiRg TS AR g7 sfear fam ferar g 2

1. 3ol gerferan
2. IRET (AR

3. 4l g
4. U1 SaRig

Options :

68019120781. 1
68019120782. 2
68019120783. 3
68019120784. 4



Question Number : 72 Question Id : 6801915319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Weber's concept of "bureaucracy’ as an ideal type construct which of these are
NOT applicable?

(A). Specialisation

(B). Rules and regulations

(C). Ascribed status

(D). Personal connections gains importance in dealing

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (B) and (C) only
3.(C) and (D) only
4. (A) and (D) only

Options :

68019120785. 1
68019120786. 2
68019120787.3
68019120788. 4

Question Number : 72 Question Id : 6801915319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS 3M1EY YOR B TG & U H JaR Bl AHRATGT P SAYRUN H 575 4
I 1 AR el il 82
(A) faRIoRe
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1. %ad (A) 3R (B)
2. Had (B) AR (C)
3. ®4d (C) 3R (D)
4.%ad (A) 3R (D)

Options:



68019120785. 1
68019120786. 2
68019120787. 3

68019120788. 4

Question Number : 73 Question Id : 6801915320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Urbanisation and Family: Change in India" was written by:

. Srinivas

. F.G. Bailey
3. M.S.Gore
4, Veena Das

Options :

|

68019120789. 1
68019120790. 2
68019120791. 3

68019120792. 4

Question Number : 73 Question Id : 6801915320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"SI US Wit dol g sfear e o 3 faem fordt i 2
1. gifHara

2. UH Sl deft

3. U909, 7R
4. 10T g

Options :

68019120789. 1
68019120790. 2

68019120791. 3



68019120792. 4

Question Number : 74 Question Id : 6801915321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Communalism in India 1s mostly associated with

1. Religion
2. Race
3. Tribe
4, Class

Options :

68019120793. 1
68019120794. 2
68019120795. 3

68019120796. 4

Question Number : 74 Question Id : 6801915321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
YRd © FivgEIdedl ol ftdar Y ST Sal 5 |

oH

. e
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4.

Options :

L P R

68019120793. 1
68019120794. 2
68019120795. 3
68019120796. 4

Question Number : 75 Question Id : 6801915322 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among these is a non-probability sampling technique?

1. Stratified random sampling
2. Smmple random sampling

. Snowball sampling

4. Cluster sampling

Taa

Options :

68019120797. 1
68019120798. 2
68019120799. 3

68019120800. 4

Question Number : 75 Question Id : 6801915322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. TRIPd e Uidag-
2. IR ref=se Afd=dH
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Options :

68019120797. 1
68019120798. 2
68019120799. 3

68019120800. 4



